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8 (a) Shade onesquare incach dagram so that there is.
) oneline of symmetry,

() routionalsymemety oforder 2.

(6) The pyramid below has a rectanglr base.
“The verex ofthe pyramid s vertically above the centre of the base.

‘Wrie down the number of planes of symemety for the pyramid.
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A cycist e Melbourne on Wednesday 21 May at 0945 1o travel to Sydcy.
“The jouney took 97 hours.

Write down the day,date and e that the cyelis arived n Sydney.

NoTTO
1Sm SCALE

Sam

“The diagram represents a recangular gate measuring 1.5 by 3 Sm.
s made from cight lenghs of wood.

Calculatethe total length of wood needed to make the gate.
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10 Make dihe subjectofthe formala ¢ =S4

0=12,4,6,5, 10 snd R= {5, 10, 15,20},
1Se P ah=1mdPn0=0.

Labelcach s and complee the Venn disgram o show ths nformation.
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[ paper

14y varies inversely as thesquare of .
y=15whenx=8.

Findy whenx=5.

15 The points (2,5), 6. 3) and &, 1) all lic in a staight .
(@) Find the valuc of k.

(6) Find the quation of the lne.
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2

Write down the leters of al the wiangles which are
(@) congrucnt toth shaded riangle,

(6) similar, bt ot congrucat, o the shaded triangle.

)
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1 Examiner's
e

For the diagram, write down
(@) the order of rotational symmetry,

Answer@

(b) the number of lines of symmetry.

Answer®) .,

2 Calculate 3sin120° - 4(sin120°)".

Answer 21
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3 Write the following in order of size, smallest first.

2-43
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3

4
4 Write as a single fraction Tﬂ *5-

5 Write 2° x 8% x 47 inthe form 2.
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. ) a4 Examinr's
4 Write asasingle fration == + . e

Answer 21
5 Write 2° x 8% x 47 inthe form 2.

Answer 21
6 Change 64 square metres into square millimetres.

Give your answer in standard form.
mm? 2]
7
%
A B
c

The shaded area in the diagram shows the set (4 N C) M B
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c

‘The shaded arca in the diagram shows the set (4 N C) N B'.

‘Write down the set shown by the shaded area in each diagram below.

© ©
A

©UCLES 2010





image14.png
[ papers.xiremepap: x

€ > C \Dpapers xtremepapers.com /CIE/Cambridged 201GCSE Mathematics %20(0580)/0580_s10_qp_22.pdf

£ soldfigures | Free Ma... @) Auto Parts Warehous... [E] History on the et Mai.. [ NewTab ] Microsoft Outlock We... 43, Hilel Academy 515 -d... ] hes:fms] s not aval... ! pbmusicsolutions - Yah... | ] Regents Prep Center

Answer(b) x = 21

A fence is made from 32 identical pieces of wood, each of length 2 metres correct to the nearest
centimetre.

Calculate the lower bound for the total length of the wood used to make this fence.

Write down your full calculator display.
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10 Make x the subject of the formula.
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10 Make x the subject of the formula.

poxtd
x
Answer x = “1
u
NOTTO
SCALE
o
9]
6em ‘
P T
Two circles, centres O and C, of radius 6¢m and 4cm respectively, touch at 0.
PTis a tangent to both circles.
(a) Write down the distance OC.
Answer(a) OC= em [1]
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Y}

c
4cm,

6em|

P T
Two circles, centres O and C, of radius 6¢m and 4cm respectively, touch at 0.
PTis a tangent to both circles.

(a) Write down the distance OC.

Answer(a) OC=

(b) Calculate the distance PT.

©ucLEs 010
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12 The diagram represents the ski lift in Queenstown New Zealand.
T

730m

et

B

NOTTO
SCALE

(@) The length of the cable from the bottom, B, to the top, T, is 730 metres.

‘The angle of elevation of T from B is 37.1°.

Calculate the change in altitude, & metres, from the bottom to the top.

Answer(a)

(b) The lift travels along the cable at 3.65 metres per second.
Calculate how long it takes to travel from B to T.

Give your answer in minutes and seconds.

m 2
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y
NOTTO
SCALE
4 4 y=4
3
5 -
24y=8  xty=18
(@) Theline y = 4 meets the line 2x + y = 8 at the point A.
Find the co-ordinates of 4.
Answer(@) 4 ( . ) m
(b) The line 3x +y = 18 meets the x axis at the point B.
Find the co-ordinates of B.
Answer(®) B ( . ) om
(© (@) Find the co-ordinates of the mid-point Mof the line joining 4 to B.
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Answer(a) 4 ( . - ) om

(b) The line 3x +y = I8 meets the x axis at the point B.
Find the co-ordinates of B.

(® (@) Find the co-ordinates of the mid-point Mof the line joining A to B.

Answer(@)i) M (
(i) Find the equation of the line through M parallel to 3x + y = 18.

Answer(c)(ii)
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17

NOTTO
o R SCALE
P s
W T
VU

The diagram shows the junction of four paths.
In the junction there is a circular area covered in grass.
This circle has centre O and radius $m.

() Caloulate the area of grass.

Answer(a)

®)

The arc PQ and the other three identical arcs, RS, TU and ¥ are each part of a circle, centre O,
radius 12m.

The angle POQ s 45°.

The arcs PO, RS, TU, VIV and the circumference of the circle in part(a) are painted white.
Calculate the total length painted white.

Examiner's
e

(1) Regents Frep Center
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1 Write the numbers in order of size with the smallest first.

io 314

2 Michel changed S600 into pounds (£) when the exchange rate was £1 = $2.40.
He later changed all the pounds back into dollars when the exchange rate was £1 = $2.60.

How many dollars did he receive?

3 pis the largest prime number between 50 and 100.
g the smallest prime number between 50 and 100.

Calculate the value of p—g.





image2.png
0 L 6> tamacaGleane x { B3 Facebook  x [ RR34FMive| x  f somsung gdex, x ¥ gy ew Semsung ¢ x ¥ 3T crefCambridge x ' [ pepers.treme: x [ papersastremer x ¥ [ papersatreme; x \__NSHIEHERS

€ > C \Dpapers xtremepapers.com /CIE/Cambridged 201GCSE Mathematics %20(0580)/0580_s10_qp_21.pdf *‘ =

4 A person in a car, travelling at 108 kilometres per hour, takes 1 second to go past a building on the
side of the road.

Calculate the length of the building in metres.

cuctes 00

5 Calculate the value of 5(6 % 10° +400), giving your answer in standard form,

6 Caleulte the value of J‘_
22\

(@) writing down all the figures in your calculator answer,
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Calculatethe value of (6 10"+ 400), giving your snswer in standard form.

Caletstethe value of L [1 'JI
e

(a) writing down all the igures i your caleulator answr,

(b) wrtingyour snswer coree o 4 significant igures.

Tam

“The op ofa desk is made from a rectangle and a qarte cirle.
“The rectangle measures 0.$m by 1 4m.

Calculatethe surface arca ofthe top of the desk.

[ paper





